4.10 Exercises

1=16 1 Find the most general antiderivative of the function. 19-42 i Find f. .
(Check your answer by differentiation.) W0 L6k 4 1952 2, iy 2o
I f(x) =6x>—8x +3 2 f(x) =4+ x* - 5¢3 2. £7(x) = | + 2. £ = conl
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1. flw) = 2 12. f(x) = 3e* + 7 sec’y 29. f'(1) = 2cost + sec’t, —/2 < t<rimih 1(nf3
sin 6 30. £ =37 f)=f(-1)=0 1
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15, £() = 25 + 5(1 =222 g, fg=2txt 1 32y ) =y e ()= 1
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33. f'(x) =24x> + 2x + 10, f(1) =S5, fry==4 '
3. f'(x) =4 — 6x — 40x°, f0)=2, f(0)=1"8

{11 17-18 m Find the antiderivative F of f that satisfies the given con- : ;
35. f"(0) =sin@ + cos 6, f(0) =3, f10)=4

dition. Check your answer by comparing the graphs of f and F.

B f(x) =55 —2+° F(0)=4 36. f'(t) =3/, f4)=20, f'4)=7
|8. f(x} == 3{'1 + x?)- l’ F(I} = 0 37. f"(x) =2 = 123’,, f(o) = g, f(Z) =15
2 : : 3 5 38. F"(x) = 20x% + 12x% + 4, f(0)=38, f(1)=3



=2+ cosx, f(0)= -1, f(w/2)=0
=2+ 3sint, f(0)=0, f(m)=0

B >0, (D=0, f2y=0
=sinx, fO=1, fO=1, f1(0)=1



